Installation Steps:

1)
2)
3)
4)

5)

6)

Instruction Sheet (1105) Licensed

'CONSOLE VAULT

INNOVATIVE SECURITY SOLUTIONS

(800) 878-1369 www.consolevault.com

2021+ Ford Bronco ' ‘

Center Console Safe -
Official

Product

Review all steps before initiating installation.
If applicable, reset the combination lock before beginning installation.
Open the center console. Remove any contents, including the liner at the bottom of the console (3).

Collapse and guide the hinge plate into the console such that the “FRONT” sticker is closer to the front side of the
console (4).

Unfold the hinge plate so the bottom plate rests on the bottom of the console, and spread the arms of the hinge
plate apart (5).

Insert the two studs on the underside of the top frame into the appropriate slots on the hinge plate arm, then guide
this hinge plate arm out to the console wall. While continuing to hold the top frame, position the other hinge plate
arm to line up the remaining studs with the remaining slots, and drop the top frame into place (6, GREEN
ARROWS).

DOGUMENT REV-A INSTRUCTIONS CONTINUE ON BACK SIDE



'CONSOLE VAULT

INNOVATIVE SECURITY SOLUTIONS

Official
(800) 878-1369 www.consolevault.com Licensed
Product

7) Open the door on the top frame, then thread the 4, 1/4”-20 Nuts onto the studs on the underside of the top frame by
hand (7).

8) Using a 7/16” Socket Wrench, fasten the 4, 1/4”-20 Nuts until they all contact the underside of the hinge plate
features and STOP! (8) Warning! Overtightening the screws will cause damage to the threads.

9) Insert the 4, 1” Screws into each threaded insert nut. Then using a 7/16” Socket Wrench, complete tightening until
all screw heads fully contact the insert nuts and STOP! (9) Warning! Overtightening the screws will cause
damage to the threads.

10) Insert the pad into safe using the curved features as a reference (10, BLUE OVALS).

11) The installation is now complete.

DOCUMENT REV-A



'CONSOLE VAULT

INNOVATIVE SECURITY SOLUTIONS

(800) 878-1369 www.consolevault.com

2021+ Ford Bronco
Caja fuerte para el compartimento
Hoja de instrucciones (1105)

Official
Licensed
Product

Para Instalar:

1) Repase todas las etapas antes de empezar a instalar.
2) Si se necesita, ajuste la combinacién antes de empezar a instalar.

3) Abra el compartimento entre los asientos. Quite todo el contenido del compartimento incluso el tapete de goma al
fondo. (3)

4) Pliegue e inserte la bisagra (hinge Plate) en el fondo del compartimento, verificando que la etiqueta marcada
"FRONT" esté colocada en la parte delantera del compartimento. (4)

5) Despliegue la bisagra para que parte al fondo quede en el fondo del compartimento, y extienda los brazos de la
bisagra. (5)

6) Inserte los dos corchetes de la parte inferior de la estructura (top frame) en los espacios apropiados de los brazos
de la bisagra, y luego guie el brazo de la bisagra fuera hasta el lado del compartimento. Con la estructura todavia
en las manos, coloque el otro brazo de la bisagra para que los corchetes que queden alineen con los espacios que
queden, y deje caer en su lugar la estructura. (6, FLECHAS VERDES)

DOCUMENT REV-A INSTRUCCIONES CONTINUAN EN EL OTRO LADO



'CONSOLE VAULT

INNOVATIVE SECURITY SOLUTIONS

Official
(800) 878-1369 www.consolevault.com Licensed
Product

7) Abra la puerta de la estructura, y luego rosque a mano las 4 tuercas de 2"-20 en la parte inferior de la estructura (7).

8) Usando una Llave de Tubo de 7/16”, apriete las 4 tuercas de 72™-20 completamente hasta que todas estén en
contacto con la parte inferior de la estructura y jDEJE DE GIRAR! (8)

9) llnserte manualmente los 4 tornillos de 1” en cada tuerca. Luego use una Llave de tubo de 7/16” para apretar
completamente hasta que la cabeza de cada tornillo esté en contacto con la tuerca y jDEJE DE GIRAR!
(9) jAdvertencia! Apretar los tornillos demasiado resultara en dafar las roscas.

10) Inserte el tapete en la caja fuerte usando las caracteristicas curvas como referencia. (10, OVALOS AZULES)

11) La instalacion ya esta completa.

DOCUMENT REV-A



Les étapes d’installation:

1)
2)
3)
4)

5)

6)

Un coffre-fort de la console du centre ‘

'CONSOLE VAULT

INNOVATIVE SECURITY SOLUTIONS

(800) 878-1369 www.consolevault.com

\

2021+ Ford Bronco

La feuille d’instructions (1105) Lci::feﬁr;:si:ld

Product

Révisez toutes les étapes avant de commencer l'installation.
Si applicable, reréglez le cadenas de combinaison.
Ouvrez la console du centre. Soutenez du contenu y compris le revétement au fond de la console (3).

Pliez et guidez la plaque de la penture dans la console pour que I'adhésif « FRONT » soit plus proche de la coté a
'avant de la console (4).

Dépliez la plaque de la penture pour que la plaque au fond pose au fond de la console, et ouvrez les bras de la
penture (5).

Insérez les deux boutons sur le dessous de la charpente supérieure dans les fentes appropriées dans le bras de la
plague de la penture, puis guidez ceci jusqu’au mur de la console. En continuant de tenir la charpente supérieure,
positionnez I'autre bras de la plaque de la penture pour mettre en rang les boutons qui restent, et laissez tomber la
charpente supérieure dans la place (6, LES FLECHES VERTES).

DOCUMENT REV-A LES INSTRUCTIONS CONTINUENT AU DOS



'CONSOLE VAULT

INNOVATIVE SECURITY SOLUTIONS

Official
(800) 878-1369 www.consolevault.com Licensed
Product

J

7) Ouvrez la porte sur la charpente supérieure, puis enfilez & main les 4 Ecrous de % pouce-20 sur les boutons au dessous
de la charpente supérieure (7).

8) En employant une clé a douille de 7/16 pouce, attachez les 4 Ecrous de " pouce-20 jusqu'ils tous touchent le dessous
de la plaque de la penture et ARRETEZ! (8) Avertissement! Si vous serrez trop les écrous, il y aura des dommages
aux fils.

9) Insérez les 4 Ecrous d’un pouce dans chaque écrou enfilé pour insérer. Puis, en employant une clé a douille de 7/16
pouce, complétez de serrer jusqu’a toutes les tétes des écrous touchent complétement les écrous pour insérer et
ARRETEZ! (9) Avertissement! Si vous serrez trop les écrous, il y aura des dommages aux fils.

10) Insérez le rembourrage dans le coffre-fort en employant les caractéristiques courbes comme une référence (10, LES
OVALES BLEUS).

11) L’installation est maintenant compléte.

DOCUMENT REV-A



	Sheet1
	Drawing View3
	Drawing View6
	Drawing View7
	Drawing View8

	Sheet2
	Drawing View4
	Drawing View5


